Probelm Wk.9.3.3: More Thevenin

1. Find the Thevenin voltage and resistance looking into the port labeled Va and 14 in
the circuit below:
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th = Volts (as decimal number)
Ry = ohms (as decimal number)

2. Find VBB and R so that the Thevenin voltage is 12 Volts and the Thevenin
resistance is 6 ohms when looking in port labeled Vs and Is in the circuit below:
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Vee = Volts (as decimal number)
Rp = ohms (as decimal number)

3. Find Vee and Re so that the Thevenin voltage is 12 Volts and the Thevenin
resistance is 6 ohms when looking in port labeled Ve and Ie in the circuit below:
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Vee = Volts (as decimal number)

Re = ohms (as decimal number)



MIT OpenCourseWare
http://ocw.mit.edu

6.01SC Introduction to Electrical Engineering and Computer Science
Spring 2011

For information about citing these materials or our Terms of Use, visit: http://ocw.mit.edu/terms.



http://ocw.mit.edu
http://ocw.mit.edu/terms

